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1) x*=25

BRIZ x=4+/25
=+/52
=45
(3) 9x2+1=5
BETSE 9x’=5—1
9x%=4
WOE 9 THBE ﬁ=%
£oT, BRI x=i%
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1) (x4+4)(x=7)=0
KoTC x+4=0 FIE x-7=0
LEEDST, BRIE z=-4, 7

(3) x*4+8x=0

DR DEITDE x(x+8)=0
KoT x=0 FEE x+8=0
LIED' ST, #&IF =0, —8
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@) 6x2=36 R
W0%E 6 THdDE x2=6
£oT, BRI 1=+6
4) —4x*+20=0
BEITDE —4x*=—-20
m0E —4 THdDE x2=5
£oT, BRI r=45
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() 2"+6x+5=0 MIT5 ELT6
DR EITDE ET5B 2 DRI
(x+5)(x+1)=0 5&1

KoT x2+5=0 FfF x+1=0
LiEn'->T, fiRlE x=-5, —1

4) x*—8x+16=0
DRV OEITDE
£o>T x—4=0
LIED'DT, BRIE x=4

(x—4)*=0



